Math 6.2.notebook March 03, 2013

Sf g‘hdq 6.22 Sol\/l-nj E%Un'\'lafv\) LJ ()Sl.nj Bﬂ‘ﬁ'\C(

,\wﬁ’m
‘\'rn""c . qre . (N ?‘m B«‘qw_ Se«‘c
! > I (2) A\Sa.bnq Tiles

R T U RTIBR T
'l'o re.PY'-Seq"' ’H‘\t Vﬁrl.ﬂl)'e)' an é
C fr“c) to Ve ?rcsud' 'ﬂ\v. (onth't +"'"

J.l 'ﬂ\t CC,VA‘,'t'M\ USIﬁJ bcﬂ\ $|',L>. 0{1"\&
R«éud\.c) HoJ(s d (I.rc‘d uo,‘h\ Oh“j onhe

alance @n

+« Mo
ba\ﬂ‘\a-
block Yemgms on 6We Sié‘ o4 he b

civeles are on the 6the side -

V\/\M/\/\/\/\/\—"

c



Math 6.2.notebook March 03, 2013

EXGM?’:.: SO'VQ q‘+3(~| - £w+l

O
exorexe U] OEEE |
|
L0 O O T I O 7
|




Math 6.2.notebook March 03, 2013

Steakogq#2: Mlgcben Tils

X Mcf\-\ x)c*‘\ Si(lcj 0{ _H\& evﬂ\"lo.v\ USU\J
G‘jc-\bm "'l'd

¥ Use a Qli\c ‘\'o StP&fﬂ‘\l \)o'ﬂ\ s.“'s o{.‘h.lcj,
T\"ls Ql.m- YQ?V'..SU\‘h '“\G C‘}W-\l Slj.l\ In ‘11); f%”-

X Remove Tils VSing 2re ?qi;s so that W04 "'\"
WaVe Ugriable Tils av Gue side and constanl
gt tils on The other side -

¥ Re«'vause. fhe cons tant ynit Hiles (h groups
based on 1y 4 o4 variable il you have.

---~-- - - - -

-..QTE: TF the Uarl'a\.')‘c +,°|¢S Ore h.J ('\c ‘I'|il¢\:
: -FllP all Hks on beth sids. J7



Math 6.2.notebook

&a.,?sz : Selve ""'"L‘I

il

tils: C+2c=-13=Yc

.+ To concel the B red yuit 4k ou the vidht,
et we hed 13 2um peics on +he 04+

ety |

Nate: Now, ramow 13 red it Kl Lo oathsido

I\)d+U: Agé +u~a Vo\rr.q\o\t

2evo ?'\I'w o The RS

+o (/\I'Vh-lru&c ”H/k- ?OSII{*\.U'L \Mh'q b‘c tll‘)

on the Lits-
s AN | Wil
O
ces o g
Note ?L ‘;i‘ht:\“ \CI:‘:;Uc- Fils ar negabie (vdy
i Il
=5 | 0000
m ®E E =
BN 1
m e |l ]
m e | ]
mm N -
B I:I

. L adn posiHive
ok it

ooo C=‘3

+Fils oncress

varigble ils ’!\s 3

Nee

—

March 03, 2013



Math 6.2.notebook March 03, 2013

Sa\ufv\j qun“‘cé-\s Iiwa(m'n ‘R‘l-\-lﬂ'.\Ql N""\LWS

Nd"'-.: I’F GY cﬁ,wul-u'n Iv\ilalucs rﬂl'wr.\ﬁ\ ‘H‘J’
(‘thc."lm l(lch(&\S), a hul.l Ls&'l‘ QSvl

Sa\Vc l'\' G\jskmicq\lj.

122

(G) = 3 )Y#o

(22 r =3x%F —>%Z=’3r
(Avd v )




Math 6.2.notebook March 03, 2013




Math 6.2.notebook March 03, 2013

Prachizc: Myebraiaally solve for w:
Cw_10= 2¥ M
2

= 2wy 10

wb 50 71070 TS
ow _ 100 = 20w
'52 l =

35w~100= Hw
Q&w_loo_ W :‘{W—ZSW

~|00= "2)“’ W= 100

—

2| -—/il zl




Math 6.2.notebook March 03, 2013

?rqch Ce 'H’ 2. S clve G ch.er.cquj )

-, 5v=-3% LD =14
7 Iq —

|4 cv x4 =’37' .lf'
ANO —_?_{Y_\_.l- X _Tz’_x‘




	Page 1: Feb 26-9:24 AM
	Page 2: Feb 26-9:37 AM
	Page 3: Feb 26-9:56 AM
	Page 4: Feb 26-10:52 AM
	Page 5: Feb 27-10:47 AM
	Page 6: Feb 28-9:24 AM
	Page 7: Feb 28-9:38 AM
	Page 8: Feb 28-9:48 AM

